Credit : Statistics
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(@) During his lunch hour, Luke records the number of birds that visit his

(b)

bird-table.

The numbers recorded last week were:
28 32 14 19 18 26 31.
Find the mean and standard deviation for this data.

Over the same period, Luke’s friend, Erin also recorded the number
of birds visiting her bird-table.

Erin’s recordings have a mean of 25 and a standard deviation of 5.

Make two valid comparisons between the friends’ recordings.




	4
	2

	Ans
	(a)  24 , 7        (b)  On average, more birds visit Erin. Number of birds visiting Luke varies more.
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(a) The pulse rates, in beats per minute, of 6 adults in a hospital waiting

(b)

area are:
68 73 86 72 82 78.
Calculate the mean and standard deviation of this data.

6 children in the same waiting area have a mean pulse rate of
89-6 beats per minute and a standard deviation of 5-4.

Make two valid comparisons between the children’s pulse rates and
those of the adults.
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	Ans
	(a)  76.5 , 6.75       (b)  Children’s pulse rates tend to be higher and to vary less than adults pulse rates.
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	[image: image3.png]The speeds (measured to the nearest 10 kilometres per hour) of 200
vehicles are recorded as shown.

Speed (km/hr)| 30 | 40 50 60 70 80 90 | 100 | 110
Frequency 1 4 9 14 38 47 51 32 4

Construct a cumulative frequency table and hence find the median for this
data.
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	Ans
	80 km/h
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	[image: image4.png]2. 'The running times in minutes, of 6 television programmes are:
77 91 84 71 79 75.

Calculate the mean and standard deviation of these times.
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	Ans
	79.5 , 7.09
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	[image: image5.png]5. The average monthly temperature in a holiday resort was recorded in
degrees Celsius (°C).

Month Jan | Eeb | Mar | Apr {May|June| July | Aug |Sept| Oct |[Nov | Dec

Awverage
Temperature 1 8 8 | 10 | 15 | 22 | 23 | 24 |20 | 14| 9 4
¢C)

Draw a suitable statistical diagram to illustrate the median and the
quartiles of this data.
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	[image: image7.png]3. Bottles of juice should contain 50 millilitres.
The contents of 7 bottles are checked in a random sample.

The actual volumes in millilitres are as shown below.
52, 50, 51, 49, 52, 53, 50

Calculate the mean and standard deviation of the sample.
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	Ans
	[image: image8.png]- x =51, 5.d =141
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	[image: image9.png]9. A random check is carried out on the contents of a number of matchboxes.

A summary of the results is shown in the boxplot below.

| R
47 50 51 53 54

What percentage of matchboxes contains fewer than 50 matches?
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	Ans
	25%
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	[image: image10.png]2. Fiona checks out the price of a litre of milk in several shops.

T'he prices in pence are:

49 44 41 52 47 43,
(@) Find the mean price of a litre of milk.
(b) Find the standard deviation of the prices.

(¢) Fiona also checks out the price of a kilogram of sugar in the same
shops and finds that the standard deviation of the prices is 2-6.

Make one valid comparison between the two sets of prices.
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	Ans
	[image: image11.png](a) 46
(b) 4-0987

(¢) Less variation in price of sugar
than there is in milk
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	[image: image12.png]Fifteen medical centres each handed out a questionnaire to fifty patients.

The numbers who replied to each centre are shown below.
11 19 22 25 25
29 31 34 36 38
40 46 49 50 50

Also, they each posted the questionnaire to another fifty patients.

The numbers who replied to each centre are shown below.
15 15 21 22 23
25 26 31 33 34

37 39 41 46 46

Draw an appropriate statistical diagram to compare these two sets of data.
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A furniture maker investigates the delivery times, in days, of two local
wood companies and obtains the following data.

Company Minimum | Maximum Lower Median Upper
Quartile Quartile
Timberplan 16 56 34 38 45
Allwoods 18 53 22 36 49

(@) Draw an appropriate statistical diagram to illustrate these two sets of

data.

() Given that consistency of delivery is the most important factor, which
company should the furniture maker use?

ANSWET.

Give a reason for your
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(b)) Timberplan

Smaller Interquartile Range (or
equivalent)
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	[image: image18.png]2. 'The price, in pence per litre, of petrol at 10 city garages is shown below.
84-2 84-4 85-1 839 81-0
84-2 85-6 852 84-9 84-8
(a) Calculate the mean and standard deviation of these prices.

() In 10 rural garages, the petrol prices had a mean of 88:8 and a
standard deviation of 2-4.

How do the rural prices compare with the city prices?
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	Ans
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(b) Rural prices are higher on
average, and

Rural prices have a greater
spread





	2000 P1
	[image: image20.png]7. Jamie conducted a survey.
He asked his classmates how they had travelled to school that day.

Here are their replies:

Walk 13
Bus 9
Car 6
Cycle 2

Draw an appropriate statistical diagram to illustrate this information.
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	[image: image23.png]The figures below show the total length, in mm, of a sample of 5 sparrows,
captured during a bird ringing exercise.

162 152 159 155 163

Calculate the sample mean and standard deviation for these
measurements, giving your answers correct to 1 decimal place.
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OR a pie chart containing the following angles :








